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Display Number Panel: Yes
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Question Number : 1 Question Id : 70959721966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

[ERESAREE B IR A ] 7 G R
Vedic period according to Winternitz ?
ferveaFest % a9 =1 F1 F1
(1) 2500 3.9 (2) 3500 2.7 (3) 1200 .9, (4) 6000 3.4,

Question Number : 1 Question Id : 70959721966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



[ERESAREE B IR A ] 7 G R
Vedic period according to Winternitz ?
EREARE A LI ARG
(1) 2500 3.9 (2) 3500 2.7 (3) 1200 .9, (4) 6000 3.4,

Question Number : 1 Question Id : 70959721966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

[EREAREE IR IR R A

Vedic period according to Wintemitz ?

[EREARREER G ENC A AT
(1) 2500 2.9 (2) 3500 2.9 (3) 1200 .49, (4) 6000 2.4,

Question Number : 2 Question Id : 70959721967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
who accepts this view ? — AR TE =TT
(1) ATETST: (2) THAT (3) FTAE: (4) 707

Question Number : 2 Question Id : 70959721967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
who accepts this view ? — F=HTZ[HA T4 AT
(1) ATEETST: (2) AHAT (3) FTAEA: (4) o7

Question Number : 2 Question Id : 70959721967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
who accepts this view ? — A=ATE[THEE =TT
(1) ATETST: (2) HHAT (3) FTAET: (4) 707

Question Number : 3 Question Id : 70959721968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



i B e s B s i ) e
Jajal belongs to which Veda ?
EIEGRETIE EEA =T

(1) FTa =T (2) Aqd =+ (3) ATHA=HT (4) ATd 4=+

Question Number : 3 Question Id : 70959721968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

B e o B - i e
Jajal belongs to which Veda ?
EIEGRETIE EE =T

(1) FTa =T (2) A=+ (3) AT (4) ATd4=57

Question Number : 3 Question Id : 70959721968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

ATHAA: T A 257 STTET ?
Jajal belongs to which Veda 7
SIS T 9= i «Tran g

(1) 3424 (2) Toa 249 (3) ATHA T (4) AId =50

Question Number : 4 Question Id : 70959721969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
oz o a2
Where do you find the Nighantu T

(1) 7= (2) AETAT (3) SHETH (4) T

Question Number : 4 Question Id : 70959721969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Trerog: gl 9TeA 2
Where do you find the Nighantu T
e FgiTa gar g

(1) ==k (2) AETaT= (3) FHATH (4) THATH

Question Number : 4 Question Id : 70959721969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T¥UZ: o 9T ?
Where do you find the Nighantu T
ez #gl ITH AT &

(1) FF==F (2) AZTATH (3) GHETH (4) ThTH

Question Number : 5 Question Id : 70959721970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT e 9TET Jad ?
Where do you find the AT Tm=7s1T@T
AT 29T gl WTH 2l g
(1) % ’F‘IHGI;ET;'; (2) = qqa’"ﬂ; (3) F CEE: (4) =49 EE

Question Number : 5 Question Id : 70959721970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT T2 9T o ?
Where do you find the AT =791
AT Tra 9T gl 9T 2l &
(1) TFTIAA2 (2) FOT994 3 (3) AT (4) AI42

Question Number : 5 Question Id : 70959721970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HTEA e eITET Ao ?
Where do you find the AT Tm=as1TaT
AT~ 9TTaT gl WIH 2l g

(1) STFTTE = (2) T3 (3) A4S (4) ATH43

Question Number : 6 Question Id : 70959721971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘TR TAA A ?
Which of the following is present in "Zr=4T4:"’
REIBLEEE Rt e
(1) AT (2) A= (3) T (4) FT:

Question Number : 6 Question Id : 70959721971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



TR TAA A ?
Which of the following is present in "2-=4T:"
ferarforfa & & Tea T e
(1) ATETT: (2) A= (3) T (4) AT

Question Number : 6 Question Id : 70959721971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘TrE ST T A ?
Which of the following is present in T’
MatIiad 9 TR g
(1) AT (2) A= (3) T (4) AT

Question Number : 7 Question Id : 70959721972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BERICEEN
Which of the following is known as /&
MefeaT 59 Wy |18
(1) 772 (2) AT (3) AT (4) T

Question Number : 7 Question Id : 70959721972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
[RERIEEEN
Which of the following is known as =T
frerferiaD & 7 e = g
(1) 7 (2) AT (3) TTAITEA (4) T

Question Number : 7 Question Id : 70959721972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e add ?
Which of the following is known as =T
afiad 54 FgT #=1g
(1) 7= (2) FEAT (3) AT (4) T

Question Number : 8 Question Id : 70959721973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is the Devata of “=1% TG =q9"
(1) A=A (2) Z75: (3) T591: (4) FfaaT

Question Number : 8 Question Id : 70959721973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A AFAA TS A4, ... =T 24471 ?
Who is the Devata of "5 S =[A409"
‘AT ATAEATS (AT ATT" TH T T ST F I 22
(1) A= (2) T3 (3) T2 (4) FATT

Question Number : 8 Question Id : 70959721973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

==

AT AT AT, ... &9 =991 ?

e T!_"\-'

Who is the Devata of “sTT SIS Ga&9dd"
(1) SAT=TH (2) 75 (3) T2 (4) FiET

Question Number : 9 Question Id : 70959721974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SEHE AT Jdd ?
Which of the following mentions S*IH=TITHAT?
Frerfeiad | o spaaemaEET 5 727
(1) FBTIIRE (2) FATIAGE (3) F=0T (4) Tga=T

Question Number : 9 Question Id : 70959721974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A TITHAT Jdd ?
Which of the following mentions S*IH=TITHAT?
AHTad J H ST (5 H 22
(1) FBTIIRE (2) FATIAGE (3) F=0T (4) Tga=T

Question Number : 9 Question Id : 70959721974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following mentions S*IH=TITHAT?
AHTTad J H ST (54 H 27
(1) HBMAEIE (2) FATGETE (3) ZV=0T (4) TEIEH

Question Number : 10 Question Id : 70959721975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT STEATT T 09 ?
Which of the following is not included in the 33 devatas?
A4 = H F HErEd ' F R T A8 82

(1) 90T (2) TST9I: (3) T3 (4) T3

Question Number : 10 Question Id : 70959721975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT STEAT 7 109 7
Which of the following is not included in the 33 devatas?
FATH =FAdrE | 7 fHeiiad 7 7 ®9 7 951 27

(1) TIE: (2) T (3) To5: (4) 5

Question Number : 10 Question Id : 70959721975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TS 7 109 ?
Which of the following is not included in the 33 devatas?
FATH =FEarE | 7 fAeiiad § # w9 T A51 27

(1) TOTST: (2) ToAT9I: (3) Tr5: (4) F5:

Question Number : 11 Question Id : 70959721976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TR 74 2
Which of the following is included in TTHI?
efad 5 T T 5 F19 22

(1) A1 (2) 712: (3) =7 (4) FATE:

Question Number : 11 Question Id : 70959721976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



TR 7 2
Which of the following is included in TTHI?
fetrfad 5 & wgmiaar 5 £ 22

(1) AT (2) FT2: (3) 99 (4) FATE:

Question Number : 11 Question Id : 70959721976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Ty 7 2
Which of the following is included in TTHI?
MefeaT 5 & vg7ar 9 #1927

(1) 7T (2) T2 (3) =T (4) FATH:

Question Number : 12 Question Id : 70959721977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

FEITA TS HAT: i ?
How many mantras are there in Kathopanishad?
FETaRE F AT a7 22

(1) 135 (2) 120 (3) 130 (4) 125

Question Number : 12 Question Id : 70959721977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

HEIATTS HAT: qied ?
How many mantras are there in Kathopanishad?
FETARTE 7 T 7w 27

(1) 135(2) 120 (3) 130 (4) 125

Question Number : 12 Question Id : 70959721977 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ETAR IR I i | H 1
How many mantras are there in Kathopanishad?
FETARE 7 AT 7w 22

(1) 135(2) 120 (3) 130 (4) 125

Question Number : 13 Question Id : 70959721978 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

: MCQ Option Shuffling : No Display Question Number : Yes

: MCQ Option Shuffling: No Display Question Number : Yes



= J4d ?
Which of the following is mentioned in Chandogya?
T ¥ 7 Z=rg |{ JTe?

(1) %l':-]_r’?ﬁ"? T (2) THTHRIO (3) T7H: (4) T

Question Number : 13 Question Id : 70959721978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

B F1d ?
Which of the following is mentioned in Chandogya?
T ¥ 7 Z=rg |{ JTe?

(1) %l':-]_r’?ﬁ"? T (2) THTHRIO (3) T7H: (4) T

Question Number : 13 Question Id : 70959721978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

B F1d ?
Which of the following is mentioned in Chandogya?
T ¥ 7 Z=rg |{ JTe?

(1) %l':-]_r’?ﬁ"? T (2) THTHRIO (3) T7H: (4) T

Question Number : 14 Question Id : 70959721979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT TIHTE TR AT T 7

What is the name of the first chapter of Bhagavadita?

AT & TIHTEATT FT AT9 T 22

(1) ARFATT: (2) FHATR: (3) ASATE9=40: (4) TgiaamT:

Question Number : 14 Question Id : 70959721979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT TIHTE TR AT T 2

What is the name of the first chapter of Bhagavadita?

AT & TAHTEATT FT AT #4722

(1) AT (2) FHAT: (3) A=A (4) i

Question Number : 14 Question Id : 70959721979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



AT TIHTE TR AT T 7

What is the name of the first chapter of Bhagavadita?

AT & TIHTEATT FT AT9 T 22

(1) ARFATT: (2) FHATR: (3) ASATE9=40: (4) TgiaamT:

Question Number : 15 Question Id : 70959721980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

EERNECRERIECIN
Which of the following is indicated by %7
(1) Fea®s (2) afTEEe (3) st igasd (4) AEagsT

Question Number : 15 Question Id : 70959721980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

EERNECRERIECIN
Which of the following is indicated by %7
(1) Fea®s (2) afTEEe (3) st igasd (4) AEagsT

Question Number : 15 Question Id : 70959721980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

EERNECRERIECIN
Which of the following is indicated by %7
(1) Fea®s (2) afTEEe (3) st igasd (4) AEagsT

Question Number : 16 Question Id : 70959721981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ATET: TEr=ATE A1 T 2
What is the name of the sixth chapter of Bhagavadgita?

TG AT & S5T AT 6T A7 F7 22
(1) FrgfaamT: (2) AR (3) FHATR: (4) SATTET:

Question Number : 16 Question Id : 70959721981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T T AT T 2
What is the name of the sixth chapter of Bhagavadgita?

TG AT & S5T AT 6T A7 F7 22
(1) FrsgfermT: (2) A= (3) FHAET: (4) SATHE:

Question Number : 16 Question Id : 70959721981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT e 919 T 2
What is the name of the sixth chapter of Bhagavadgita?

AIAZIAT % S5T AATH T AT FT 272
(1) TarsgfaamT: (2) ATEET: (3) FHATR: (4) AT

Question Number : 17 Question Id : 70959721982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

qITIHId: T4 ?
What is known as TITHH T ?

TTAF o T8 Fgd 27
(1) =T (2) EAST=T (3) SATTET (4) AGFT

Question Number : 17 Question Id : 70959721982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
R EA G AT G
What is known as TETHF:?

(1) BT (2) FA=T (3) SATT=AT (4) TZ=T1

Question Number : 17 Question Id : 70959721982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TITAF e T ?
What is known as %1 ?
(1) =97 (2) FGAT=AT (3) SATTEUT (4) TEF=0T

Question Number : 18 Question Id : 70959721983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Ao weETEs T ?
Which is the 9799= of Vishnu?
(1) T (2) 9 (3) AT (4) T

Question Number : 18 Question Id : 70959721983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
i Eatj-l: SRR qﬂl__":q-il ?

Which is the 9799= of Vishnu?
(1) ®F (2) weh: (3) A (4) T

Question Number : 18 Question Id : 70959721983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
o T ?
Which is the 977992 of Vishnu?
(1) T (2) 9 (3) 910 (4) T4

Question Number : 19 Question Id : 70959721984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TS =T 7T &1 FIEAT s=qTg add ?

In which chapter comes the shloka “TTsTT==IT TTE]"?

4|U1r";|'=54| v'|u-|4l£ mmquéq
(1)8(2)9 (3) 11 (4) 12

Question Number : 19 Question Id : 70959721984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TTSA T AT TTSE] &1 Hiedd AT Jad ?

In which chapter comes the shloka “TTsT =T TTSE]"?

TTSA AT T &1 T sTedTd o 27
(1)8(2)9 (3) 11 (@) 12

Question Number : 19 Question Id : 70959721984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



TS TS AT FEA AT 499 2

In which chapter comes the shloka “TTsTT==IT TTS0E]"?

TS TS T T e & 22
M8@9@) 11412

Question Number : 20 Question Id : 70959721985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TTHT F: 90 7
Who is known as F=THT ?

(1) FHAERAL: (2) AT (3) =947 (4) FHEAATT:

Question Number : 20 Question Id : 70959721985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TATHT & Fad ?
Who is known as T~ ?
HATHT Td g 27
(1) FHEATTE: (2) AT (3) AT (4) FARAATLE:

Question Number : 20 Question Id : 70959721985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HITHT & AT 7
Who is known as F=THT ?
HATHT o g 2
(1) FARAI: (2) AT (3) TAAT (4) FARAATTLE:

Veda and Srimad Bhagavad Gita-2

Section Id : 709597293

Section Number : 2

Section type: Offline

Mandatory or Optional: Mandatory

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 30

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 709597388
Question Shuffling Allowed : No

Question Number : 21 Question Id : 70959721986 Question Type: SUBJECTIVE Display Question Number : Yes



Correct Marks: 3
What is meant by “A9=94T: 9=1:"7
“AYTEIGT: F=T:" T KT 1099 FT 27

Question Number : 21 Question Id : 70959721986 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

AYTEUAT: 927 2084 (o areqd | ?
What is meant by “ST9=94T: 93T1:"7?

Question Number : 21 Question Id : 70959721986 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

HYTEUAT: daT Zoaed (% aTeqd+q ?
What is meant by “ST91=94T: d=1:"7?

Question Number : 22 Question Id : 70959721987 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

AT ATTET T o ?
T2 T 1L & HTHAT B A9 77
Explain the four types of ATHITT?

Question Number : 22 Question Id : 70959721987 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

FAHT AT T F Fod 7
Explain the four types of ATH1177

Question Number : 22 Question Id : 70959721987 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

FAHT AT TUH Fio 2
=7 THT7 o ATHIATT FT T F:27
Explain the four types of ATH1177

Question Number : 23 Question Id : 70959721988 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

A=A 9749 ?
Give a brief description of Sayanacharya
AT &7 TAi4T gi=9g 7

Question Number : 23 Question Id : 70959721988 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3



A=A =4 ?

Give a brief description of Sayanacharya

Question Number : 23 Question Id : 70959721988 Question Type:

Correct Marks: 3
ETEE T 9= 2

Give a brief description of Sayanacharya

Question Number : 24 Question Id : 70959721989 Question Type:

Correct Marks: 3
Tod 244 S[FTcd BIZOM TIaT=4e ?
What is the reason for the #[%7-9 of the Yajurveda?

Question Number : 24 Question Id : 70959721989 Question Type:

Correct Marks: 3
Ao(d =57 $[FTcd BT AfAIT=AT ?
What is the reason for the #[+7-9 of the Yajurveda?

Question Number : 24 Question Id : 70959721989 Question Type:

Correct Marks: 3
A 207 ST BT TIATT=AT ?
What is the reason for the #[+79 of the Yajurveda?

Question Number : 25 Question Id : 70959721990 Question Type:

Correct Marks: 3
S'I 3 I q- q i I:I-,: 3]Fil FFquE I_I ?

Write a brief description of the ‘isavasyopanishad’.

iy

Question Number : 25 Question Id : 70959721990 Question Type:

Correct Marks: 3
STTATEA T T =: 99 GhaaTH 17

Write a brief description of the ‘isavasyopanishad'.

iy

Question Number : 25 Question Id : 70959721990 Question Type:

Correct Marks: 3
S'I 3 I q- q i I:I-,: 3]Fil FFquE I_I ?

Write a brief description of the ‘isavasyopanishad’.

iy

Question Number : 26 Question Id : 70959721991 Question Type:

Correct Marks: 3

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

SUBJECTIVE

Display Question Number :

Display Question Number

Display Question Number :

Display Question Number

Display Question Number

Display Question Number

Display Question Number

Display Question Number :

Yes

- Yes

Yes

:Yes

:Yes

- Yes

tYes

Yes



AEA= a94ad ?
Write a brief description of ‘#g[d47

Question Number : 26 Question Id : 70959721991 Question Type: SUBJECTIVE
Correct Marks: 3

’]{-:lq-f'l 3JHqE lj
Write a brief description of *#g[d=7

Question Number : 26 Question Id : 70959721991 Question Type: SUBJECTIVE
Correct Marks: 3

’.:l{-:lq-fl ajﬁqE ?
Write a brief description of "#g[44""7

Question Number : 27 Question Id : 70959721992 Question Type: SUBJECTIVE
Correct Marks: 3

AARHAIFAAI=A F AT i ?
Write the main arguments for not accepting ‘ATT®HHAHFE T 997

Question Number : 27 Question Id : 70959721992 Question Type: SUBJECTIVE
Correct Marks: 3

AEHAAg v ®T AT ik ?

Write the main arguments for not accepting ‘ATTHHAAFA T Ag9'7

Question Number : 27 Question Id : 70959721992 Question Type: SUBJECTIVE
Correct Marks: 3

AARHAIFAAI=A F AT i ?
Write the main arguments for not accepting ‘ATT®HHAHFE T 997

Question Number : 28 Question Id : 70959721993 Question Type: SUBJECTIVE
Correct Marks: 3

HATTE-ATREAT: A ?

What is the difference between a sanyasi and yogi?

Question Number : 28 Question Id : 70959721993 Question Type: SUBJECTIVE
Correct Marks: 3

TR AT ?

What is the difference between a sanyasi and yogi?

Question Number : 28 Question Id : 70959721993 Question Type: SUBJECTIVE
Correct Marks: 3
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A=A AT ?

What is the difference between a sanyasi and yogi?

Question Number : 29 Question Id : 70959721994 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

TATATTATI TR o |

Write a brief note on ‘raga’ according to the bhagvadgita.

Question Number : 29 Question Id : 70959721994 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

WA TR o |

Write a brief note on ‘raga’ according to the bhagvadgita.

Question Number : 29 Question Id : 70959721994 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

AT AT TR A o |

Write a brief note on ‘raga’ according to the bhagvadgita.

Question Number : 30 Question Id : 70959721995 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

'El -'_:I:-r'?fﬁ‘ 0 11 :1"1 ?
What is ‘T ?

Question Number : 30 Question Id : 70959721995 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

;fl a:-r'?fﬁ‘ 0 11 :}.l‘:l ?
What is A7 ?

Question Number : 30 Question Id : 70959721995 Question Type: SUBJECTIVE Display Question Number
Correct Marks: 3

'j a:r’ffﬁ‘ T 11 :}.II:I_‘ '}
What is ‘g ?
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Question Number : 31 Question Id : 70959721996 Question Type: SUBJECTIVE
Correct Marks: 10

A AAAATATIZ (o AldEa? Id9=4d ?

Describe in detail the Indian mantra-commentary tradition.

Question Number : 31 Question Id : 70959721996 Question Type: SUBJECTIVE
Correct Marks: 10

A AT TATHATT =T AldFaL Ta97=49 ?

Describe in detail the Indian mantra-commentary tradition.

Question Number : 31 Question Id : 70959721996 Question Type: SUBJECTIVE
Correct Marks: 10

A A AT A ATAT S AT+ Ta97=4d ?

Describe in detail the Indian mantra-commentary tradition.

Question Number : 32 Question Id : 70959721997 Question Type: SUBJECTIVE
Correct Marks: 10

AZLEI AT (A=A |
Write the views on 9374,

Question Number : 32 Question Id : 70959721997 Question Type: SUBJECTIVE
Correct Marks: 10

A= a1 (AT AT |
Wirite the views on 9374,

Question Number : 32 Question Id : 70959721997 Question Type: SUBJECTIVE
Correct Marks: 10

AT FEEAT |
Write the views on F=74T.

Question Number : 33 Question Id : 70959721998 Question Type: SUBJECTIVE
Correct Marks: 10

AT h gl T FHET T T=e a9 |
Describe the ¥ according to the ZATAZI7.

Question Number : 33 Question Id : 70959721998 Question Type: SUBJECTIVE
Correct Marks: 10

PATAR g T ST T 9= J0A |
Describe the ¥ according to the FATIZT7.

Question Number : 33 Question Id : 70959721998 Question Type: SUBJECTIVE
Correct Marks: 10
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AT h gl FAFH T T2 994 |
Describe the ¥95 according to the FATAZT7.

Question Number : 34 Question Id : 70959721999 Question Type:

Correct Marks: 10
EIRREIRERE Rt ETa N
Explain the ATTT4.

Question Number : 34 Question Id : 70959721999 Question Type:

Correct Marks: 10
AFIAT=T0 FIEad |
Explain the ATTT.

Question Number : 34 Question Id : 70959721999 Question Type:

Correct Marks: 10
AFTATETI FIEo |
Explain the STT94.

Question Number : 35 Question Id : 70959722000 Question Type:

Correct Marks: 10
q_tF;— _.--\:I 5‘“13"_._""' Ilﬁj_ﬂj’l a—u'm'n - m—m—- T |

Explain in detail the branches of ‘rigveda’.

Question Number : 35 Question Id : 70959722000 Question Type:

Correct Marks: 10
q_tF;— _.--\:I STPE-HTI Ilﬁj_ﬂj’l a—u'm'n - m—m—- T |

Explain in detail the branches of ‘rigveda’.

Question Number : 35 Question Id : 70959722000 Question Type:

Correct Marks: 10
a—ﬂ_ .--\:l STPE-HTI Ilﬁj_ﬂj’l a—u'm'ﬁ - W_ T |

Explain in detail the branches of ‘rigveda’.

Question Number : 36 Question Id : 70959722001 Question Type:

Correct Marks: 10

Explain the T3T9T9H.

Question Number : 36 Question Id : 70959722001 Question Type:

Correct Marks: 10
HJIHJHTEH&"’H AredTd |

Explain the T3T9T9H.
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Correct Marks: 10
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IO AF i aa= AT |

Explain the TIT9295 i,

Question Number : 37 Question Id : 70959722002 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

= i-'—-'_sll':l'i G ;JI-:”J :::IEH:“:IEII
Explain ‘19" according to the gita.

Question Number : 37 Question Id : 70959722002 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

AT arEmor fF=rad |
Explain ‘S according to the gita.

Question Number : 37 Question Id : 70959722002 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

= i-'—-'_sll':l'i G ;JI-:”J :::IEH:“:IEII
Explain ‘19" according to the gita.



